



QUOTE PREPARED FOR:

SUBSCRIPTION/DIGITAL CONTACT:

Warren County Sch Dist 6820 MARKET ST RUSSELL, PA 16345-3406 ACCOUNT NUMBER: 432222 Eric Mineweaser

CONTACT: Eric Mineweaser

SALES REP INFORMATION:

Alyson Tranquill alyson.tranquill@mheducation.com

Section Summary		Value of All Materials	Free Materials	Product Subtotal
Glencoe Earth Science © 2017		\$17,228.01	(\$2,877.21)	\$14,350.80
Glencoe Physical Science © 2017		\$17,780.91	(\$2,877.21)	\$14,903.70
Glencoe Chemistry Matter & Change © 2017		\$35,561.82	(\$5,754.42)	\$29,807.40
Glencoe Chemistry Matter & Change © 2017		\$16,675.11	(\$2,877.21)	\$13,797.90
Glencoe Physics: P&P © 2017		\$19,992.51	(\$2,877.21)	\$17,115.30
Professional Development		\$5,000.00	(\$5,000.00)	\$0.00
F	PRODUCT TOTAL*	\$112,238.36	(\$22,263.26)	\$89,975.10
E	ESTIMATED S&H**			\$7,198.01
E	ESTIMATED TAX**			TBD
	GRAND TOTAL*			\$97,173.11

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:		
		1
		'

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 04/12/2018 ACCOUNT NAME: Warren County Sch Dist EXPIRATION DATE: 05/27/2018

QUOTE NUMBER: ATRAN-04122018-001 ACCOUNT #: 432222 PAGE #: 1

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Glencoe Earth Science © 2017					
GLENCOE EARTH SCIENCE GEU DIGITAL PROGRESSION STUDENT 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677613-9	110	\$110.58	\$0.00	\$12,163.80
GLENCOE EARTH SCIENCE GEU STUDENT EDITION	978-0-07-677491-3	25	\$87.48	\$0.00	\$2,187.00
GLENCOE EARTH SCIENCE GEU XP ESTUDENT EDITION 6 YEAR SUBSCRIPTION	978-0-07-679624-3	25	\$90.57	\$2,264.25	*Free Materials
GLENCOE EARTH SCIENCE GEU XP COMPLETE TEACHER 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677616-0	4	\$153.24	\$612.96	*Free Materials
	Glencoe Earth	Science ©	2017 Subtotal:	\$2,877.21	\$14,350.80
Glencoe Physical Science © 2017					
GLENCOE PHYSICAL SCIENCE XP COMPLETE STUDENT 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677623-8	115	\$110.58	\$0.00	\$12,716.70
GLENCOE PHYSICAL SCIENCE STUDENT EDITION	978-0-07-677456-2	25	\$87.48	\$0.00	\$2,187.00
GLENCOE PHYSICAL SCIENCE XP ESTUDENT EDITION 6 YEAR SUBSCRIPTION	978-0-07-679626-7	25	\$90.57	\$2,264.25	*Free Materials
GLENCOE PHYSICAL SCIENCE XP COMPLETE TEACHER 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677626-9	4	\$153.24	\$612.96	*Free Materials
	Glencoe Physical	Science ©	2017 Subtotal:	\$2,877.21	\$14,903.70
Glencoe Chemistry Matter & Change © 2017					
CHEMISTRY MATTER & CHANGE XP COMPLETE STUDENT 6 YEAR SUBSC BUNDLE	978-0-07-677581-1	230	\$110.58	\$0.00	\$25,433.40
GLENCOE CHEMISTRY MATTER AND CHANGE STUDENT EDITION	978-0-07-677460-9	50	\$87.48	\$0.00	\$4,374.00
GLENCOE CHEMISTRY MATTER & CHANGE XP ESTUDENT EDITION 6 YEAR SUBSCRIPTION	978-0-07-679620-5	50	\$90.57	\$4,528.50	*Free Materials
CHEMISTRY MATTER & CHANGE XP COMPLETE TEACHER 6 YEAR SUBSC BUNDLE	978-0-07-677586-6	8	\$153.24	\$1,225.92	*Free Materials
Glend	oe Chemistry Matter &	Change ©	2017 Subtotal:	\$5,754.42	\$29,807.40
Glencoe Chemistry Matter & Change © 2017					
CHEMISTRY MATTER & CHANGE XP COMPLETE STUDENT 6 YEAR SUBSC BUNDLE	978-0-07-677581-1	105	\$110.58	\$0.00	\$11,610.90
GLENCOE CHEMISTRY MATTER AND CHANGE STUDENT EDITION	978-0-07-677460-9	25	\$87.48	\$0.00	\$2,187.00
GLENCOE CHEMISTRY MATTER & CHANGE XP ESTUDENT EDITION 6 YEAR SUBSCRIPTION	978-0-07-679620-5	25	\$90.57	\$2,264.25	*Free Materials
CHEMISTRY MATTER & CHANGE XP COMPLETE TEACHER 6 YEAR SUBSC BUNDLE	978-0-07-677586-6	4	\$153.24	\$612.96	*Free Materials
Glend	oe Chemistry Matter &	Change ©	2017 Subtotal:	\$2,877.21	\$13,797.90
Glencoe Physics: P&P © 2017					

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 04/12/2018 ACCOUNT NAME: Warren County Sch Dist EXPIRATION DATE: 05/27/2018

 QUOTE NUMBER:
 ATRAN-04122018-001
 ACCOUNT #: 432222
 PAGE #:
 2





Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
GLENCOE PHYSICS PRINCIPLES & PROBLEMS DIGITAL PROGRESSION STUDENT 6YR SUB BUNDLE	978-0-07-677597-2	135	\$110.58	\$0.00	\$14,928.30
	978-0-07-677476-0	25	\$87.48	\$0.00	\$2,187.00
GLENCOE PHYSICS PRINCIPLES PROBLEMS XP ESTUDENT EDITION 6 YEAR SUBSCRIPTION	978-0-07-679622-9	25	\$90.57	\$2,264.25	*Free Materials
GLENCOE PHYSICS PRINCIPLES & PROBLEMS DIGITAL PROGRESSION TEACHER 6YR SUBBUNDLE	978-0-07-677602-3	4	\$153.24	\$612.96	*Free Materials

 Glencoe Physics: P&P © 2017 Subtotal:
 \$2,877.21
 \$17,115.30

 Professional Development

 STAFF DEVELOPMENT WORKSHOP
 TRN2001
 2
 \$2,500.00
 \$5,000.00
 *Free Materials

Professional Development Subtotal: \$5,000.00 \$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 04/12/2018 ACCOUNT NAME: Warren County Sch Dist EXPIRATION DATE: 05/27/2018

QUOTE NUMBER: ATRAN-04122018-001 ACCOUNT #: 432222 PAGE #: 3



Comments:



QUOTE PREPARED FOR:

Warren County Sch Dist 6820 MARKET ST RUSSELL, PA 16345-3406 ACCOUNT NUMBER: 432222

CONTACT:

Eric Mineweaser

VALUE OF ALL MATERIALS	\$112,238.36
FREE MATERIALS	(\$22,263.26)
PRODUCT TOTAL*	\$89,975.10
ESTIMATED SHIPPING & HANDLING**	\$7,198.01
ESTIMATED TAX**	TBD
GRAND TOTAL	\$97,173.11

SUBSCRIPTION/DIGITAL CONTACT:

Eric Mineweaser

Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber. ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websi visiting www.mheducation.com (or www.mhecoast2coast.com). School Purchase Order Number: Name of School Official (Please Print)	
'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber. ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websi visiting www.mheducation.com (or www.mhecoast2coast.com).	
'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber. ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websi	
'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber. ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websi	
the <u>Terms of Service</u> . The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a	I term
Terms of Service: By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Se Subject to Subscriber's payment of the fees set out above, McGraw-Hill School Education, LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described.	v only
**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.	
* Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.	

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605 SEND ORDER TO:

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 04/12/2018 ACCOUNT NAME: Warren County Sch Dist EXPIRATION DATE: 05/27/2018

QUOTE NUMBER: ATRAN-04122018-001 ACCOUNT #: 432222 PAGE #: 4